Guestion 1 (13 marks) Marks

Centre Number

| ’ ] l ‘ l ‘ I I —l a) Evalvate and give your answer in scientific notation to 3 s‘igniﬁcant‘ﬁgurcs. 2
A Student Number
_ g : : o ’2.6x 0.03
SCEGGS Darlinghurst ‘ : ‘ . : 8795
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Total marks—40 - ' ¢) Write 0.123 as a fraction in simplest form. 2
General Instructions ' '
4 ‘ -« Attempt Questions 1 — 3
¢ Time allowed — 1 hour : empt Questions
*  Write your Student Number at the top of ' . ; .
each page A ’ . d) After buying cars second hand, Ronnie the used car salesman sells them at a higher 2
«  Start each question on anew page . . " ‘ o lts i : . . i
: - t: 1l rice of $25 200,
+  Ateinpt all questions and show al Question | Reasoning | Communication Marls price to make a profit. If a mark-up of 40% results in a selling p
necessary working B 1 ' /13 how much did Ronnie pay for the car originally?
» Answer all questions on the pad paper . - . :
provided 2A ' /15
& Marks will be deducted for careless or P T
. 3 n4
badly arranged work
¢ Mathematical templates, geometrical TOTAL . /ﬂ
equipment and scientific calculators may
‘be used A
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¢) Rationalise and simplify to find the value of g and b if: 2
Vi2 -5
VIZTS s
V3—-2
) Find 6 to the nearest degree in the triangle below. . : 2 -

©

WOQQ

o = b7 e - 2ol cos b

. bi +c? L 2al
cos iy = i

'&'L'
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Question Z (13 marks)

a) Simplify fully 3x - (x ~ 4)* 2
b) Factorise‘_ﬁﬂly 8x3 + 1 . 2
¢) Solve the following equations
TSy Py 2
5 3
i [E+3|=4 2
1
. 4*=-= 2
8
iv. x(2x—-3)=5 2
d) Solve the inequality: 3
x% —4x >0
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Question 3 (14 marks) i Marls

a) Calculate the area of the triangle shown, correct to 2 decimal places.

4L

133cm

b) Salve the following simultaneous equations 2
3x+2y =11 . -
4y — 4y = 18’
c) Find the exact value of 2
sin30°
sec45°
7 7 /3
~
0K Cam TS
d) Given that 4 is acute and sin6 = ; , find the exact value of #ane. 2
N
B
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e) Maude and Miguel aie at a camp ground(C) in the National park. Maude decides to go
for a swim in the lake(L) and travels on a bearing of 218° for 315m. Miguel would
prefer to climb Mount Meetme(M) and travels on a bearing of 145° for 802m.

i. Draw a clear diagram showing this information. 1
(Your diagram must be at least 1/3 of a page in size.)
ii. Find, correct to the nearest meire, the distance from the lake to Mount Meetme. 27
iii. Find the bearing of the Lake from Mount Meetme, correct to the nearest degree. 3
End of Examination -
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